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WA Ft (1) T 5 fii #% (M) HERE S5 ()

SNBSS 57,394,700 52,177,000 (A) 5,217,700
YAl o 63,254,400 57,504,000 (B) 5,750,400
ERIES SRR 52,998,000 48,180,000 (C) 4,818,000
AL S SRS 58,408,900 (F) 53,099,000 (D) 5,309,900 (E)

HERE 5,410,900 4,919,000 491,900
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& EHE/NEREEF W ERIETE No. 1
RETEHAI RETEERE e
Ty : - s A
® H W= 8 EEr & s I T o | EOEEE WE
[ERZAR %
I #ETHE = 37,672,182 = 42,017,610 4,345,428 HE%H
M| EXGEm LHE = 1,387,540 = 1,387,540 0
| kR = # 0
ERCERER ¢ 39,059,722 43,405,150 4,345,428 HE%A
Him g
I| % Y 2,047,182 = 2,158,170 110,988 H9%H
| BGEE R X 4,570,275 =K 4,836,355 266,080 HI%H
— X B X 6,499,861 =K 7,104,464 604,603 HE%H
Fam 13,117,318 14,098,989 981,671 Ha%E
EFF 52,177,040 57,504,139 5,327,099 H4%E
T EMAS T AT 52,177,000 57,504,000 5,327,000 H4%E
TH B Bl S AH 24 %R 5,217,700 5,750,400 532,700 HE%HE
wAE (rER) 57,394,700 63,254,400 5,859,700 H4%E
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RETEEAT RETEFR a3
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I |BETSE
Al |EERARSMEE L 2V 19,733,919 oy 20,286,289 552,370 |HE%H
A2 | B EBRAMEE L = 17,938,263 = 21,731,321 3,793,058 |Ha%H
Gt 37,672,182 42,017,610 4,345,428 HE%E
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Al-1 BB T 5 1 X 4,097,894 1 =X 4,097,894 0
Al-2 | B s TF 1 = 5,262,893 1 = 5,262,893 0
Al-3|F M EEfE T 5 1 K 5,238,168 1] =X 5,790,538 552,370 HE%H
Al-4|PhKekfE L% 1 = 830,330 1 = 830,330 0
Al-5 [ BELE T H 1 K 923,874 1 =X 923,874 0
Al-6|Z D T2 1 = 2,620,664 1 = 2,620,664 0
AL-T [ - vy 1 X 760,096 1 =X 760,096 0
&Ft 19,733,919 20,286,289 552,370 HE%E
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A2 |BER OSBRSS

A2-1 [EHERER LH 1 3L 3,542,965 1 K 3,542,965 0
A2-2 [ ETH 1 KX 2,885,700 1 K 2,885,700 0
A2-3 [SMBELE T4 1 3L 4,721,584 1 K 5,584,642 863,058 H4%H
A2-4 Bk g T 1 KX 686,116 1 K 686,116 0
A2-5 | BEEYE T 1 3L 695,946 1 K 695,946 0
A2-6 D T3 1 K 1,119,384 1 X 1,119,384 0
A2-T ooy 1 KX 4,286,568 1 K 7,216,568 2,930,000 H4%E

At 17,938,263 21,731,321 3,793,058 HE%H




